Priklad cislo 4 - pomocné vypocty

C := linalg[matrix](6, 6, [1, 1,0,0,0,0,0,0,1,1,1,1,0,0,27,9,3,1,3,1,-3,-2,-1,0,6,0,-6,- 2,
0,0,00,18,2,0,0]);
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C1 :=inverse(C);
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Na prisluSném intervalu:

with( plots) :

multiple(plot, [1/(1 +x"2),x=0..3, color =red, thickness= 3, legend ="Ptvodni funkce"], [1 — 11
/20*x +1/20*x73,x=0..1, color =blue, thickness=3, legend="S 0"], [43/40-31/40*x +9
/40 *x"2-1/40*x"3,x=1..3, color =green, thickness=3, legend="S 1"]);
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Mimo néj:

multiple(plot, [1/(1 +x"2),x=-5..7, color =red, thickness =3, legend = "Pavodni funkce"], [1-11
/20*x +1/20*x"3, x=-5..4, color =Dblue, thickness=3, legend="S 0"], [43/40-31/40*Xx +9
/40 *x"2-1/40*x"3,x=-2..7, color = green, thickness= 3, legend="S 1"]);

Pavodni funkce === S ( == S 1
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